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1 BRERH

[1-1) RKiE:#& nE€N,W21n+4,14n+3)=d=1.
iF 2ln+4=14n+3+7n+1,

Sod BB Tt 1.
14n+3=(Tn+1)X2+1,
Sod B 1,d=1.

g%,

[1-2] #V/x+/2x—1+V/x-/2x-1=/2.
B ox-1+1+|/2x-1-1|=2.
e /2x — 11, B 0.5<x<1 i,2 =2, {5 K7 5
4 /2x —1>1,80 x>1 8, VAx -2=42,x =1, Tf#.
C.0.5<Cx<1.
[2-1] K =% xyz . {f
100x +10y + z=11(x* + y* + 2%).
R ox-yt+tz=11(x*+y*+22-9x— y) =05 11.

2x% +2xz + 2z = 10x + z

2x% + 2xz + 2z% = 32x + 23z — 131.

/:'.7\ V4 :'fﬁﬁﬁ Z:ﬁﬁ91§CX9y’Z) = (555,0)@‘2(890»3)

4 x*

2-2 —_—
k2-2] %(1—\/1+2x)2

<2x+9.
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& 24 x7#0,x=>-0.5 i, R B A
(1+ V/1+2x)?<2x+9,
S/1T+2x<3.5.
5 x<<5.625.
SRER(-0.5,00U(0,5.625).
[3-11 ##
x + y +z=a,

x2 + y* + 22 = b?,

CECHS

xy = z%,

H a, b HEFELTE x,y, z HEEARIER?

B O"- O az=xy+(x+y)z=0.5(a® - b?).
“a>0,
S.2az=a* - b*,2a(x+y)=a*+ b.
Sox,yEfu)=u*-0.5a"'(a*+ b*>)u +0.25a %(a® -
b*)* A FIER,
S A H>0.
50<|b|<a<i/3|b|.
[lidin)

f(z) = 0.25a7%(a® - b*)(a® - 3b*) # 0,

Soxy Y.z APPSR IEEL.

[4-11 KB/ m (i n = anan- - a:6, f
6aAmAm-1*"a, =4n.

iR "40n =6an,am-1*+as0
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=6X10"+ auam-1ra6—6
=6X (10" -1 +n,
S.39n=6(10"-1), 13n=2(10"-1).
WRAE m=1,2,.6,7, K m=7TFE-MFEEK,
Son = 153846. ] FH/hae B e vk B HE LR -

Am Am-1 ***  *** a3 6

[4-2] ##/3-x-/x+1>0.5.
B Sx-1=t,H/2-1-/2+1>0.5 (-2<t
<2). 18
V4 - 2 < 1.875,

FRF 71
t* > 0.484375,

So=2<1<<—0.125 V/31.
So—1<<x<<1-0.125 V/31.

[5-1] REF x.F2V/x>—1=x—V/x2—p.

N SR

2x*+ p—4=-2xvx* - p,
Ak
8(2 - p)x* = (p—4)*,

Sop=<2.
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o
__4-p
T2v/i2p
KA, 815
|3p—4| +2|pl=4-p.
M p<0Ht,H4-3p+2p=4—p,..p=0;
3 0<p<<a B K 4-3p+2p=4- p. 1 0= 0. fHIL;

w 4
§§<p<2 .4 3p—4+2p=4—p,Q p=%;

.‘.O<p<%,x=2j—4;_—p2:p(%@%)-
[5-41 CEH a.f#

Xs t X = axp,
X1+ X3 = axz,

N X2t x4 = axs,

X3 T X5 = aXy,

X4+ X1 = axs.
g EORADON xs,1%
ax, — x, + x3 —axy, = 0,
{ (a* = Dx; —ax, — x4 = 0.
EORA®, DI x4, 1%
ax, + (a—Dx, + (1 - a?)x;
{ (@a>-Dx; + (1 —-a)x, — axs = 0.

HEORACOH x3,15

Il
o

©@ ® 60 6

0 &



1 AARSRH 5.

(a®*+a-D[x;—(a-Dx,] =0,
{ (a*+a—-1(x; —x2) =0.
Ma*+a-1)FA00F,a#2,(x1,x2,x3,x4,x5) = (0,0,
0,0,0);
Mat+a-1#400,a=2,(x1,x2, X3, X4, %5) = (X, X,

x,x,x) (xER);

Mal+ag-1=00F,a=0.5(-1%/5),(x1,X25X5X45
xs)=(x,y,ay—x,(a*-1y—-ax,ax—y) (x,yER).

[5-61 BH{a,b,c,d,e}={1,2,3,4,5}.

(1) #%% abcde = 12345, WA h— oAl — R BT

(2) #4E daecb =12345, WA 5 s B ST AP ARG .

Ka,b,c,d,e(xy RESFSy=x+1).

R B PPITCA LT 10 MEE : daech = GEE x")

@ 12ec’'b=12453 BEHH'ESS;

@ la3ch' =15324 R HES;

® laedb' =15243 FKHFELR;

@ laec'5=13425 FKHHHESR;

® d'23chb=52314 K HELR;

© d2e'4b=52143 FKHHE4R;

@ d2ec'5=32415 FKHHE4E;

da'34b=25341 K PES;

© da'3c5=24315 FKHHELE;

@ da'e45=23145 [&(1)2)].

[6-1) m,nENHQ) 2" -1=Tm;(2) 2"+1=Tm.
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g o2k -1=8-1
=(8-1)(8 1+ 8 2+t 1) =71,
2%+ —1=141 +1,
23k+2 = 1=28¢r+3,
2k +1=Tt+2,
2514 1=141+3,
2%k+2 4 1=28¢ +5,
LD (m,n) = (8 T+ 82+ +1,3k), (2)TCf#.

[6-41 Ai, Ay, Ay 17 i, B A E—— SR ik
B RELRPRARATER A6, 5 3 AL KIEA
Al e =T () 3 A f5) .

E 2B AALG=1,2,-,16) 4 6 &[F M, Ak
A1Ay, Az Ay s Ac An[RIRELER. 35 AiA6 (i =1,2,+++,5)
gL, ME ALt =M. & b A . Am, ) H
g 3 &, AU AiAs, AyAs, AsAe RN TE . 45
A1A3, A AL AA, PEER NEABEA=MAE. FHEP L
wa,Nefaa=AK. .

[7-2) E%ﬂiaﬁx, = 0,2(1,,- >00i =1,2,3). 24
i# A ay <10-ﬁ?ﬁE:(x1 ,xlz,xg) = (0,0,0).
W AP 0 <Sxe<<xs.
M ;<0 B, A
0= anx:i +apx: + asx;

<anx; +apx, + asx; <0;



1 AARESRHK <7

X, >00fF
0= asnxi + apx; + azpx;
= anx; t apxs; + apx; > 0.
0o <xp, < x3;<<0.
Joxi = x, = x3=0.

[7-4Y SR 4 DSECx, x0 xa. x0) il HAHE— 305 H
R I NEZBRIFNGET 2,

B xitxixexzx, Tx;=20=1,2,3,4),
SoxiexE=2x; - 2x;.

LG = D= (xy — D2,
Soxr =1 = xe =1 = xy =1 = x4 1]

Mxi=xs=xs=xy =1 B x1 =X = X3 = X4 = X,
X+ x—2=0,00 x=1(HFHE);

Bxizxo=a=zlzx A xi=x=x3=x=1>x,
=yuaxtxty=2, v+ X =2, (x - (xX* -1 =0.8 x=y
=18{x=-1,y=3;

Wxizx=lxs=x, BB xi=x=x=12x3 = x4
=y, x+txy*=2,y+tx*y=2,l(x—yxy-1=0,lx=y
=1,

M=l zx=x LA i =x=12x,= x3 = x4
=y, x+t Vv =2,y+yvix=2,(x =Y -1)=0,f x=y
=18 x=3,y=—1;

Wizx w2 A = =x=xi=x, 80

x=1.
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(XI 9 X2 9 X3 ’X4) = (1’19191)ﬁ(3a - 1, - 19 - 1)&ﬁﬁFﬁU
[8-11 fRARTA R R4

X1+ xp + x5+ x4+ x5 =25, @D
Xy — 2x3 — x4 = 0, @
-x1+txs =-1, ©)
X1 — xz; —x3 = 0. @
m O+0-01”

2x; + 2x, — x3 = 26, ®

@ -2X®1F%
4x, + x3 = 26. ®

S0 x, <<6.

4 0<<x, <5 B, HOF x:=6, HOH x, =11, HOMH x:
—10.
Soxytxs x5 =27, 5OXE!
Sx: = 6. HOM X =2, O x, =8, HOM x5 =7.
So(X1 9 Xo e X3s X4 e Xs5) = (8,6,2,2, ) (HEE).

[8-51 EHl ai,as,as,a, P ASEER L #

4

Dllaj—ailxi=1 (=1,2,3,4).

i=1
ﬁ Kﬁ'ﬁiﬁa1>az>as>a4,ﬁﬁﬁﬂ§ﬁﬁ
(a; —az)x, + Cay —az)xs +(a, —ay)xy = 1,
(al = az)xl + (az = a;;)x:; =+ (az = a4)X4 = 1,

(al = ag)xl + (az - ag)X2 + (a3 - a4)x4 = 1;

® 00 e

(a; —ag)x, + Cay, —ag)x, + (as — as)x; = 1.
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DO-@fF(ar —a))(—x1 +x2+x3tx4) =0,
@-Q@fF(az—a;)(—x1 —x2+x3+x4)=0,
@-@DF(az—a)(—x1—x2—x3+x4)=0.
X1 =x2t x5t x4,

X1= Xz P xst x4,

X1= — Xy — X3t X4.

{x2:x3=0,
X1 :x4:(a1-a4)’1.

B @, >a, > a, > an, G gy s is B 1,2,3,4 HHE
DA xi, =x, =0,x;, =x;, =Ca; —a; ).
[9-31 & m+k+1REHKIE:
(m+k+1D'CL% a1 €N

(m+k+n+1)!

“ n+1 —
E Coernnr = 0 T (n + D1

:§<m+k+DeN.

CIHERT<m A+ k+1,
Sot B s,
&Eﬁ:%EN

[9-51 KITAEAER 0 WKL arsaz, as FIFTH A
KRB nfi Co=al +af +---+af (n=1,2,- ) PHILHA 0.

B Ela|=la|==]as].

D Ylay|>la | ==as |0, [a | >0 HE

nlog;

BB P (PRLNTN A PRLEPAT
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= las [">0GEEED.
(2) Hla|=laz[>]as|==as |0, a1a,>0, 1

n

la; | >0. HE nloga

"|C11‘>1ail+aél]_‘a3‘n_.“_ ‘a8|"

=2la,|" = laz|" == lag|">0.

Soay=—a,7#0,C,=az taitetag.
Flb , A
a; =—a,7#0, C,=as+ag+aj+ag,

-.-(a],az,a3’a4,a5§a69a79a8):(aq -agb, -b9C9 -

Cy

—d) RHFFAHS a, b, d B 0 SEE, n 23
L BIFTKR.

[9-6] MLbFE.n KItkm =, % kK Kk
RER ax :k+%(m—a1 —a;— - —ap-1—k)(k=1,
29"'9n_1)9an:ﬂ.;}2 msn.

B oar—ar=1++ (—ak D,
7

01:%(m+6)97ak+1:6ak +6,

_ _é —6—_ 6n 1

n_an_7an—1+7_ - 7“ (m 36)5
=T g,

Yn=10. A m=1:;4n>1.n—-6]<6"1, (7",
611*1):1.
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ST nF6, 00 meéN.
Son=6,m=36 (§HE).

[10-2] C A n i+ B m K& AL FZ B A m?
-10m — 22,3k m.

& 10" (10" ' —10) —22<m(m — 10) — 22<9".
S10% 72 = 10709 +22<C10".
10742,
Son=2.
S.(10a + b)* —1010a + b) —22=ab.
Ha,b B4
2. 100a(a —1) +10b(2a — 1)

=b(a—b) +22<0.25a* +22<43

a1, B a=1.
Sob=2.
Som=12.

[10-31

axi + bx, + ¢ = x40 (k= 1,2,++,n). @

Hpn+1=1,a7#0sa.b.c 2 CHFH KIE: A= (b-1)°
—4ac<0=DOTFTAR.

E “AZ0=>ax*+(b-Dx+c=0FFLH: x
=0.5a 'A-b+/A) OFLER x, =x,==x, = x.
S DFIEH=>A<O0.
VOASER X axz e X0

0 =(x}+x2+eet+x?)



